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€T i A i W % &
[& R HE/h2] L 40.0 m
Vs RS 5 20
T H7— YR AE v77G%) [A 14.0 X 0.3 4.2 4.2 m
X B R T FER WIS B | L 23.4 23.4 | 234 m
KRR E  [SeE-iEs Wis A L 28.3 + 28.3 56.6 | 56.6 m
[& R mH/h3] L 127.9 m
Vs R S 2
T 7 — YR 77 |A 59.3 X 0.3 177 | 177 o
X TR R T FR WIS B | L 122.6 122.6 | 122.6 m
ESHEEES W15 L 04 X 2 0.8 0.8 m
[&R:EE/N5] L 322.6 m
P e
& T 7 — R Y77k A 150.4 X 0.3 45.1 | 45.1 ot
ENH} T Sqis FEH WIS B L 324.0 324.0 [324.0 m
X B T ¥'7'7 W30 A | L 20 + 20 + 16 + 1.6
1.6 + 1.6 + 2.6 13.0 | 13.0 m
R E |l W15 A| L 28 + 3.7 + 28 )x 2 186 | 186 m
*)E T 13mmTOP
FABRIEAs | t=50 1.4~3.0 [ A 51.1 51.1 | 51.1 o
A IE ML 18Rl [ A 51.1 51.1 | 51.1 m
LESpel As t=50 L 2.9 9.1 2.5 + 8.0
3.0 7.2 3.4 36.1 [ 361 m
B LERRAB A FE A As A 51.1 51.1 | 51.1 nf
I » ALy AsBi \% 51.1 X 0.05 2.6 2.6 m
E G URFHIZ #3H B240[ N 6.8 = 06 + 165 <+ 0.6
6 50.0 | 50 &
IR yv—Fvy il B240| N 16.8 + 165 )+ 0.6 )x 0.1 5.6 6 e
(& m:3C1ivh14] L 197.4 m
Vs R 5 20
BRIk Y77k A 93.7 X 0.3 28.1 | 28.1 nf
IR X (L FEHE WIS A | L 150.0 150.0 | 150.0 m
ENETESEES W15 L 165.3 165.3 | 165.3 m




O N 2/5
T 1& i A 5 ES % &

EJ TG e PC4-211% #iH B250] N 30.2 + 0.5 6 = 55.0 55 e
i rv—Fvy i B250| N 30.2 + 0.5 0.1 = 6.0 6 ¥
[& R ZAARNT,18,24] L 272.1 m

VR A =X
BT Y7700k A 189.4 X 03 = 56.8 | 56.8 nf

P e S =X
BRI T— U4 v7I0R) A 46 + 1.8 2

43 X 2 = 288 [ 288 nf

X IR X [ FEH WIS B | L 364.4 = 364.4 [364.4 m
X T A T ¥'7'7 W30 B | L 3.0 = 3.0 3.0 m
X IRV 25 W15#a 5 L 25.4 + 8.7 = 341 [ 341 m
[& R REp/2T] L 242.2 m

B e A 5K
PR THIT — R Y770k A 111.4 X 0.3 72 X 02 = 348 | 348 nf
X I A T FERWIS B | L 227.4 = 2274|2274 m
X R A ¥'7'7 W30 B | L 2.0 + 2.0 = 4.0 4.0 m
XEMRERE  [SoFis W5 B L 2.8 X 2 = 56 5.6 m
[Z2m5: = mEem/h] L 20.0 m

T e G =X
M 7R 7708 A 7.8 + 4.3 = 121 | 121 nf
X TR A T E# WIS B | L 20.0 + 20.0 = 40.0 | 40.0 m
[3ms: = WEH/N] L 20.0 m

P e G =X
BT~ A Y7708 [A 7.8 + 4.3 = 12.1 | 121 nof
X T R T E#H WIS B | L 20.0 + 20.0 = 40.0 | 40.0 m
(=9 =mes/N] L 79.0 m

P e G 2
PR T — R Y776k A 39.2 X 03 = 11.7 | 1.7 o
X[ A FR WIS B | L 78.5 = 785 [ 785 m
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T 1& i Al & ) ES % &
[FE1-1E &N L 269.3 m
P e S =X
M T 7R Y77k [A 134.6 X 0.3 40.3 | 40.3 nf
X R R [ FEH W15 [ | L 269.3 269.3 [269.3 m
X I A ¥'7'7 W30 B | L 2.0 2.0 2.0 m
XEfR R E (SRS WIs B L 2.8 2 5.6 5.6 m
BN EES W15#a %5 L 10 + 06 + 28 + 06
)X 2+ 90.6 100.6 | 100.6 m
g T 13mmTOP
BRI EEAs | t=50 3.0#8% | A 80.8 80.8 | 80.8 nf
REEHEIE REM7ZL 31| A 80.8 80.8 | 80.8 nf
2 h T e As t=50 L 4.5 + 4.5 9.0 9.0 m
SRR AR A As A 80.8 80.8 | 80.8 i
XA+ ALy AsHil \% 80.8 X 0.05 4.0 4.0 m
[E11-2: 8/ L 165.3 m
T e G =X
M 7R Y77k [A 81.6 X 0.3 24.4 | 244 nf
X R X [ FE# WIS B | L 165.6 165.6 | 165.6 m
X R X [ Y77 W45 B | L 2.2 2.2 2.2 m
X[ A U R R WIS E| L 11.5 11,5 | 11,5 m
BN EES W55 L 0.6 X 2 1.2 1.2 m
FET 13mmTOP
FAEFERIEAs | t=50 1.4~3.0 [ A 284.2 284.2 [284.2 nf
REHEE kel 1.820 E| A 284.2 284.2 | 284.2 ni
EHAL AR Gk As t=50 L 23 4+ 65.0 + 580 + 2.9 128.2 [ 128.2 m
EHEE AR AR A As A 284.2 284.2 [ 284.2 ni
A+ ALy AsHil \% 284.2 X 0.05 14.2 | 142 m
E S Gais URFIZ #3E B300[ N 146 <+ 06 + 314 + 0.6
125 = 06 + 185 =+ 0.6
298 + 06 + 0.8 + 0.6
18 164.0 | 164  #




O N 4/5
T fi i Al 5 ES % &
E S Giai rv—Fv il B300| N 146 + 31.4 + 125 + 185
298 + 08 )+ 06 X 01 = 179 18 &
SR LA Ft=3cm | L 107.6 = 107.6 [107.6 m
15U AL \Y 107.6 X 0.03 X 0.3 = 09 0.9 m
[ZE12:F &) L 174.0 m
B e A 5K
W TR Y770 A 85.3 X 03 = 255 | 255 nf
X B R T FR WIS B | L 173.9 = 1739 | 1739 m
R E (SRS WIs B L 2.8 X 2 +  11.5 = 171 [ 171  m
BN EES W15#a %5 L 04 X 3 4+ 06 + 28
0.6 )X 2 + 11.5 = 207 [ 207 m
=R URFIZ #38 B240[ N 06 =~ 06 + 97 -+ 0.6
70 + 06 + 51 =+ 0.6
47 + 06 - 5 = 42,0 | 42 ¥
FhER 7V—F0 Hi5E B240[ N 06 + 97 + 70 + 5.1
4.7 )= 0.6 )x 0.1 = 45 5 ¥
fEHER TN FHt=3cm | L 9.7 = 97 9.7 m
15U AL \Y 9.7 X 0.03 X 0.24 = 0.1 0.1 m
[ 13: 358/ L 152.1 m
B e A 5K
BT TR Y770 A 71.7 X 03 = 215|215 nf
X B T FR WIS B | L 148.0 = 148.0 | 148.0 m
BN EES W15 L 0.3 + 04 )X 2 = 1.4 1.4 m
[FE15:30HE/N] L 60.8 m
VR A =K
TR Y7708 A 39 + 3.7 o+ 3.7 = 11.3 [ 11.3 nf
X IR A FEH WIS B | L 88.1 = 88.1 [881 m
X R X [ ¥'7'7 W30 B | L 2.7 4+ 2.7 = 5.4 5.4 m
XM E (o7 WIs B L 2.8 + 28.3 )X 2 = 622 | 62.2 m




BB R B OR 5/5
€T i A i W % &
[ 18:68HT /)] L 88.5 m
Vs RS 5 20
BT~ v77G%) [A 18.8 X 0.3 5.6 5,6 m
DI HR X FERE WIS | L 102.9 102.9 [102.9 m
ENET S iais v'7'7 W45 H | L 2.9 + 5.2 8.1 8.1 m
g T 13mmTOP
FAESRIEEAs | t=50 3.08x | A 265.8 265.8 |265.8 m
IHI T t=6cmLL [ A 265.8 265.8 | 265.8 ni
GaaCai o Uony AsBi \% 265.8 X 0.05 13.3 | 13.3 m
[FER3: 310/ L 195.0 m
Vs R 5 20
HE AT — YR Y77k A 89.4 X 0.3 26.8 | 26.8 ni
X TR T FERE WIS B | L 191.3 191.3 [ 191.3 m
IR R URHI % #0i8 B240[ N 114 = 06 + 74 = 06
34 + 0.6 + 32 <+ 0.6
5 39.0 | 39 H
FhRER I rv—Fy Bl B240| N 11.4 + 74 + 34 + 3.2
+ )+ 0.6 )x 0.1 4.2 5 ¥




